Tuesday, June 18



RACE 1

V65-1

Auto **2060**

6 Keep Up Laser galloped in the last run and had his winning streak broken. The mare is not completely reliable and has galloped in three of the last five starts. Without a mistake she will fight for victory. **4 Kiwi Shadow** is consistent and good. Has good capacity for this class and will normally be in the mix. **3 Karla Vang** lost as a big favorite in her debut last time. Is certainly better now and she should be considered early. **5 Koko K** scored a good second spot last time and could surprise with the right trip.

RANK	
A: 6-4	
B: 3-5-7-1-2	
C: 8	

Top 4 : 6 - 4 - 3 - 5

RANK

B: 1-4-2-7-8

A: 3

C: 5-6

Quinella:	Trifecta:	
Horses: 4, 6	1: 4, 6	
U-Horses:	2: 3, 4, 5, 6	
Total: 1 x 100 = 100	3: 3, 4, 5, 6	
	Total: 12 x 2 = 24	

P	Λ	ſ	F	2

V65-2

Auto **2060**

3 Kesse Tårs is consistent and good and uses to be in the mix. Nice number and quite easy opponents and the three-year-old should have the greatest chance to win in the race. **1 Kalle May** is undefeated after two starts and is getting better and better. If he manages to find the lead, his chances of victory increase. **4 Knock On Wood** has now made three starts after a pause and is starting to approach top form. Has won two of six starts and should not be discounted. **2 Kermit** started his career with two straight wins and showed the right attitude. Without a mistake he could be in the mix.

Top 4 : 3 - 1 - 4 - 2

Quinella: Horses: 1, 2, 4 U-Horses: 3 **Total: 3 x 50 = 150** **Trifecta:** 1: 3 2: 1, 2, 4 3: 1, 2, 4 **Total: 6 x 2 = 12**

Tuesday, June 18



RACE 3

V65-3

Auto **2060**

2 Eros Zola followed well as second last time in the first start after a break. He has probably been improved by that run under his belt. Nice number and our pick here. **5 Howlingatthemoon** has looked in good shape after its half-year long layoff. Has won eleven of his 23 starts and has to be considered. **3 Diamant Østervang** has good skills for this class and is an early contender with this nice number. **6 Enforalle P** has earlier done well under the saddle and is one of the most interesting horses in the race.

RANK	
A: 2	
B: 5-3-6-7-4-1	
C: 9-8	

Top 4 : **2 - 5 - 3 - 6**

Quinella:	Trifecta:
Horses: 3, 5, 6	1:2
U-Horses: 2	2: 3, 5, 6
Total: 3 x 50 = 150	3: 3, 5, 6
	Total: 6 x 2 = 12

RACE 4

V65-4

Auto **2060**

4 Kazio has really found top form and comes to this start with four straight wins. He is strong and can do it tough. Top chance regardless of journey. 1 Keystone is well drawn but we are not sure if he can find the lead. If he succeeds in that, he is the biggest threat to our pick.
2 Klinton is still undefeated when avoiding a mistake and should be considered early too. 5 Karat C.N. has now got three runs under his belt and should not be discounted in the battle for victory.

B: **1-2-5-3-7-6**

RANK

......

C: **8**

A: 4

Top 4 : 4 - 1 - 2 - 5

Quinella: Horses: 1, 2, 5 U-Horses: 4 **Total: 3 x 50 = 150** **Trifecta:** 1: 4 2: 1, 2, 5 3: 1, 2, 5 **Total: 6 x 2 = 12**

Tuesday, June 18



RACE 5

Skive

V65-5

Auto **2060**

1 Keep Cool Cash has won three of his six starts and been at least third. Nice lane as he can open quickly and from the lead it will not be easy for the others to pass him. Our pick. 4 Karma Shadow won in fine style in his debut and has looked nice after that too without winning. Possible if the favorite fails. 8 Keep On Nordic is getting better with each start, but from this number he is primarily a place bet. 7 Kandis Spring has done well, but probably faces too good opponents this time.

RANK	
A: 1	
B: 4-8-7	
C: 3-2-6-5	

Top 4 : **1 - 4 - 8 - 7**

Trifecta:	
1:1	
2: 4, 7, 8	
3: 4, 7, 8	
Total: 6 x 2 = 12	
	1: 1 2: 4, 7, 8 3: 4, 7, 8

RACE 6	V65-6	Auto 2060	RANK
7 Kunafufishting is s			. –
	really nice horse who has		A: 7
eight starts. Despite thi	s draw, the 3-year-old sho	uld have top chance	
	Bill comes from victory	•	B: 6-5-9-1-3-2
before that and is prob	ably even better now. Ma	in challenger to our	
•	one well so far which has	-	C: 8-4
in five starts. Tougher	now but possible anyway	behind the favorite.	

in five starts. Tougher now but possible anyway behind the favorite. **9 Kong Hans** owns quite good speed, but has got a tricky draw here.

Top 4 : 7 - 6 - 5 - 9

Quinella: Horses: 5, 6, 9 U-Horses: 7 **Total: 3 x 50 = 150** **Trifecta:** 1: 7 2: 5, 6, 9 3: 5, 6, 9 **Total: 6 x 2 = 12**

Tuesday, June 18

RACE 7	Auto 2060 RANK
Only ranking.	A: 2
	B: 3-6-5-4-1
	C: 7

Top 4 : **2 - 3 - 6 - 5**

Quinella:	Trifecta:
Horses: 3, 5, 6	1:2
U-Horses: 2	2: 3, 5, 6
Total: 3 x 50 = 150	3: 3, 5, 6
	Total: 6 x 2 = 12

RACE 8	Volt 2000	RANK
Only ranking.		A: 1-5
		B: 6-2-7
		C: 4-3

Top 4 : **1 - 5 - 6 - 2**

Quinella:	Trifecta:
Horses: 1, 5	1: 1, 5
U-Horses:	2: 1, 5
Total: 1 x 200 = 200	3: 2, 6, 7
	Total: 6 x 2 = 12

Tuesday, June 18

RACE 9	Auto 2060 RANK	
Only ranking.	A:	
	B: 5-2-6-4-1-7-3	
	C:	

Top 4 : **5 - 2 - 6 - 4**

Quinella:	Trifecta:	
Horses: 2, 4, 5, 6	1: 2, 4, 5, 6	
U-Horses:	2: 2, 4, 5, 6	
Total: 6 x 20 = 120	3: 2, 4, 5, 6	
	Total: 24 x 2 = 48	

RACE 10	Volt 2000 RANK
Only ranking.	A: 1-8
	B: 6-3-7-4-5
	C: 2

Top 4 : **1 - 8 - 6 - 3**

Quinella:	Trifecta:
Horses: 1, 8	1:1,8
U-Horses:	2: 1, 3, 6, 7, 8
Total: 1 x 100 = 100	3: 1, 3, 6, 7, 8
	Total: 24 x 2 = 48